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gc*è
Mathematics

¯äÆa'''Ã¦�**�ÇX Perfect Square Ã x2- 6 x + 5 X1

4 (B) 3 (A)

6 (D) 5 (C)

''''�Ç = �A$ Z¤/ X2

9 (B) 7 (A)

14 (D) 49 (C)

'''�X RootsÆ X3

(B) (A)

(D) (C)

''' �A$ RootsÆ x2+x+1=0 Z¤/ X4

2 (B) 1 (A)

-1 (D) -2 (C)

'''' = K �A$ RootsÆ Z¤/ X5

4 (B) 8 (A)

-8 (D) 1 (C)

'''' =a �A$ Root »Zq- x2-ax+b=0 Z¤/ X6

4 (B) 2 (A)

(D) 1 (C)

'''''  = x ~�A$ A.P Z¤/ X7

2 (B) -1 (A)

1 (D) -2 (C)
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'''ý'''�X Two Numbers �A$ 91 Product �ZzgZy» 10 A.P » Two Numbers Z¤/ X8

15,5 (B) 12,8 (A)

14,6 (D) 13,7 (C)

''''ìX = y �A$ Z¤/ X9

(B) (A)

(D) (C)

''''ìX = C ~�A$ H.P. X10

a - 2b (B) 2a + b (A)

b - 2a (D) 2b - a (C)

'''�X Number of Multiples of 9 Æ�gxy 1 to 1000 X11

110 (B) 100 (A)

99 (D) 111 (C)

�@*ìX Satisfy óordered pair Ã'''' 2x - 3y = 6 X12

(3,0) (B) (0,-2) (A)

(6,2) (D) (1,2) (C)

''''ìX = a �A$ (x,y) = (1,1) Zzg ax + 3y =0 Z¤/ X13

-3 (B) -2 (A)

0 (D) 1 (C)

''''ìX  = x �A$ Z¤/ X14

18 (B) 24 (A)

26 (D) 22 (C)

''''ìX Solution » 2x-2y=0, x-y=0 X15

(1,1) (B) (0,0) (A)

tX (D) (3,3) (C)
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Xì ''' Solution » Zzg X16

(B) (A)

(2,2) (D) (C)

~�ÇX Quadrant ''' (-x,y)A$ y < 0,  x > 0 Z¤/ X17

Q2 (B) Q1 (A)

Q4 (D) Q3 (C)

Line x =2 X18
Parallel to X-axis (B) Parallel to Y-axis (A)

Prabola (D) Passes through (0,0) (C)

A$: has unique soluton   5x+ky+7=0, x+2y=3 X19

k=10 (B) (A)

(D) (C)

ì? 2-D Shape Zy~ÐÃy� X20

Cone (B) Sphere (A)

Prism (D) Circle (C)

'''ìX   = Total surface area �A$ Side of a cube = 4 cm Z¤/ X21

96cm2 (B) 64cm2 (A)

256cm2 (D) 16cm2 (C)

'''�ÇX Side ìXA$Zk» Equilateral triangle area = X22

14cm (B) 12cm (A)

16cm (D) 18cm (C)

''''ìX Distance between (aSin600,0)  (0,aCos300) X23

(B) (A)

(D) (C)
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''''ìX = k �A$ Collinear  (k,2) (2,3) (3,4) Z¤/ X24

-2 (B) -1 (A)
21 (D) 1 (C)

'''ìX Slope » 3x - 6y + 1 = 0 X25

(B) 2 (A)

(D) (C)

''''ìX Inclination» X26

(B) (A)

(D) (C)

ìX -2 y-intercept Zzg 450 Inclination ¥xÙT» Equation of a line X27
x - y + 2 = 0 (B) x + y + 2 = 0 (A)
x + y - 2 = 0 (D) x - y - 2 = 0 (C)

'''ìX = x-aA$ xa = (a+2)a
Z¤/ X28

1 (B) 0 (A)
3 (D) 2 (C)

= my.nxA$ n=ay
Zzg  m=ax

Z¤/ X29

   a2xy (B)   axy     (A)

  a0 (D) ax2y2
    (C)

'''ìX = 6x + 2yA$ 7x+y = 343 Zzg 7x-y = 49 X30
16 (B) 12 (A)
24 (D) 20 (C)

''''ìX  = �A$ Z¤/ X31

(B) (A)

(D) (C)
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''''ìX = �A$ Z¤/ X32

0 (B) 1 (A)

2 (D) -1 (C)

'''ìX = Sec00 + Cot450
X33

Sec600 (B) CoSec245 (A)

Sec600Tan450 (D) CoSec300 (C)

�A$ Zzg Z¤/ X34

B=150 (B) B=600 (A)

A=450 (D) A=300 (C)

''''   = X35

3 (B) 5 (A)

2 (D) 4 (C)

�A$: y = 2at ó x=at2
Z¤/ X36

x2=4ay (B) y2=4ax (A)

x-y=4ax (D) x+y=4ax (C)

''''ìX Degree of Linear Equation X37

0 (B) 1 (A)

3 (D) 2 (C)

'''ìX Factor »Zq-  x2+7x=10 X38

x-5 (B) x+7 (A)

x+2 (D) x-2 (C)

'''ìX Mode » 2, 6, 4, 2, 3, 2, 10 X39

3 (B) 10 (A)

6 (D) 2 (C)

'''ìX Median» 12, 6, 18, 30, 24 X40

12 (B) 18 (A)

30 (D) 24 (C)
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(Physics) �43�5é EGG]

'''Z»ðìX SIÅ Velocity gëg X41

(B) (A)

(D) (C)

'''Z»ðìX SIÅ Pressure �!*� X42

(B) (A)

(D) (C)

''Z»ðìX SI Å Density ÑÄ X43

(B) (A)

(D) (C)

'''Z»ðìX SIÅWork »x X44

Pascal (B) Watt (A)

Coulomb (D) Joule (C)

'''Z»ðìX SI Å Energy ÂZ**ð X45

Joule (B) Watt (A)

Coulomb (D) Pascal (C)

'''ìX Dimension Formula »Z��ð�� Angle iZzt X46

(B) (A)

(D) (C)

'''ìX Dimension Formula »Z��ð�� Force ¸] X47

(B) (A)

(D) (C)
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''''ìX Formula »�� (Acceleration) ZuZq X48

(B) (A)

(D) Velocityx time (C)

�g�&''''ìX Equation »xÅ)zZ] X49

w = f x t (B) w = f x d (A)

(D) (C)

Å)zZ]�g�&'''ìX Potential Energy X50

P.E. = Fg (B) P.E. = mg (A)

P.E. = mgh (D) P.E. = F X d (C)

Å)zZ]�g�&''''ìX Kinetic Energy .51

K.E. = mgh (B) K.E. = mv (A)

(D) (C)

',Z',�@*ìX Horse Power Zq-;gk0*zg .52

1000 watt (B)   546 watt (A)

746 watt (D) 476 watt (C)

-.$ìX SIÅ Electrical Resistance ',¹'×ZØ .53

Ohm (B) Volt (A)

Watt (D) Ampere (C)

�@*ìX Refractive Index »Glass .54

1.0002 (B) 1.000 (A)

2.417 (D) 1.5 (C)

ÂZ**ð»fg=ìX Nuclear .55

 Carbon (B)  Uranium (A)

Cupper (D) Sodium (C)
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zZ^Æ',Z','''ìX Watt qgzfsÐÃy�-.$ .56

(B) Joue-sec. (A)

(D) (C)

ìX A + B �Â B = 2i + 3j + 4k Zzg  A = 2i + 3j + 4k Z¤/\)40î GG .57

4i+6j+8k (B) 4i+3j+4k (A)

4i+9j+16k (D) i+j+k (C)

ìX Constant ~''' Ohm's Law Zzxç .58

Resistance '×ZØ (B) Current (A)

Conductance ñÆ (D) Voltage (C)

�esç~'''ìX .59

3ç (B) 1ç (A)

2ç Law (D) 4ç Law (C)

ÅÑo'''ìX Balance ÅÂZiy Wheat Stone Bridge z
4h4ï X
GHZ:y>Þ .60

R = S (B)  P = Q (A)

(D) (C)

'''ìX Principle ÅãC�~ Optical Fibre âg~g3 .61

Ohm's Law çZzx (B) TIR ´�Z½Z[k (A)

Couloub Law ÃÝç (D) �esç (C)

¥x�zX Electric Current 4~¦/gCìÂ',¹gz 5,300 Coulomb, Electric Charge Zq-@*gÐ',¹!*g .62

 Amp (B) 60 Amp (A)

30,000 Amp (D) 1 Amp (C)

»z�Ü�zgZy'''ìX Seconds Pendulum »�á6»g�m Watch c*Clockþ .63

3 Sec. (B) 1 Sec. (A)

 2 Sec. (D) 4 Sec. (C)
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''''ìX Electric Current ',¹gz  .64

(B) (A)

(D) (C)

�ÏX (R) Equivalent Resistance ~�hZ�HA$ZkÅ Series Ã Resistance Å'×ZØ Zzg .65

(B) (A)

(D) (C)

�D�? Colour ~Ä Rainbow .66

5 (B) 4 (A)

2 (D) 7 (C)

''''�@*ìX Value » 'g' .67

(B) (A)

(D) (C)

''''�@*ìX Filament » Bulb .68

Copper (B) Glass (A)

Tungsten (D) Aluminium (C)

''''�@*ìX Anode~Cell Zq- .69

2 (B) 1 (A)

4 (D) 3 (C)

''''�@*ìX Electrodes~Cell Zq- .70

4 (B) 1 (A)

2 (D) 3 (C)
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(Chemistry)6

ÆâewÃZk�b�ZVä7H? (Atomic Structure) �&Ð¬�CÙÅ�|# .71

gzê̄ge (B) 1CÙ (A)

M"54k5é JGEHí (D) ZXZXå\ (C)

~0*ñYäzZáZ9Z÷Ã'''¹Y@*ìX (Outermost Shell) Ë�CÙÆÛzyF,+pw .72

Unpaired Electrons (B) (Valence Electrons) ¤/DZ9Z÷ (A)

Inert Pair of Electrons (D) MiZ�Z9Z÷ (C)

&
B5Òý

G�VÂ (Mass Number) Zq-��Vp�CÙ~S (Atomic Number) ËKÆZ,�CÙXÆ�CÙ~°� .73

ZyÃH¹Y@*ì?
Isotones (B) Isomers (A)

Neutrons (D) Isotopes (C)

tì: CNG .74

Compressed Natural Gas (B) Cyanogen Natural Gas (A)

Controlled Natural Gas (D) Condensed Natural Gas (C)

ucÊ-.ø
G

ÃYÊ-.ø
G

~ps�@*ì? Oxide Zy~Ð¾K» .75

Phosphorus (B) Magnesium (A)

Carbon (D) Sulphur (C)

Å(,~zztì: (Acid Rain) !Z!!*gl .76

CO (B) CO2 (A)

O2  (D) Nitrogendioxide (C)

BCì? "Dry Ice" Zy~ÐÃyÏ�̂kqª(~ .77

Helium (B) Carbonoxide (A)

Oxygen (D) Nitrogen (C)
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»ÃgñÑtì: Red Lead .78

PbO (B) PbO2 (A)

Pb3O4 (D) Pb2O3 (C)

KÅÃúVÃãÆ´`ÆaZEwHY@*ì? Radioactive Zy~Ð¾ .79

Barium (B) Radium (A)

Strontium (D) Cobalt (C)

»6ð**xHì? Bleaching Powder .80

Calcium Hypochloride (B) Calcium Chloride (A)

Potassium Hypochloride (D) Sodium Hypochloride (C)

gppzZáÁÜt�: Atomic Size ~�&ÐÁ (Periodic Table) �zg~].zw .81

Halogens (B) Alkali Metals (A)

Inert Gases (D) Chalcogens (C)

ÆZëZb%ZYt�: (Brass)|è .82

Iron Zzg Copper (B) Copper Zzg Zinc (A)

Copper Zzg Nickel (D) Nickel Zzg Zinc, Copper (C)

7ì? Cation øDfs~Ãy�Zq- .83

Copper Ion (B) Aluminium Ion (A)

Zinc Ion (D) Sulphate Ion (C)

F,ÚóZ�kZzg'''ÆM!²w�D�X (Electric Conductors) ic*�{F,',¹ñÝ .84

Aluminium (B) Copper (A)

# (D) Iron (C)

ì? Symbol ¾K» Rn .85

Radon (B) Radium (A)

Ruthenium (D) Rhenium (C)
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ZyfgZ]~0*ðYCìX Kinetic Energy �&Ðic*�{ .86

âù (B) k̂ (A)

Metalloid (D) � (C)

ÃZq-�¤/z\~g3�HìXYè: Silicon Zzg Carbon .87

¯D� Oxides Æ�Bï� O2 �zâV (B) �zâV³g+Æ�B¬ï�D� (A)

�zâVÆÛzyF,+pw~)z~Z9Z÷ñ��� (D) Æ�B¬ï�D� Hydrogen �zâV (C)

ÅYCìX Balance Zq-6ð)zZ]ZkçÆ_. .88

Law of Multiple Proportion (B) Avogadro's Law (A)

Law of Gaseous Volumes (D) Law of Conservation of Mass (C)

~¢ïMCì? Stainless Steel øDfs~¾Ð .89

Carbon (B) Zinc (A)

Tin (D) Lead (C)

)z~�@*ì'''ÆX 1 Atmosphere .90

740 mm of Hg (B) 760 mm. of Hg (A)

780 mm. of Hg (D) 670 mm. Hg (C)

ÅF,KMt�Cì: H-Atoms ÆZ§Zs Carbon �?~ Methane .91

Tetrahedral (B) Square Planar (A)

Octahedral (D) Square Pyramid (C)

øDfs~Ð¾�?~Ñq-¤/DÈ7ì? .92

NaCl (B) H20 (A)

O2 (D) CCl4 (C)

)z~�@*ì: Avagadro's Number .93

6.023 x 10-23 (B) 6.023 x 1023 (A)

6.63 x 10-23 (D) 6.63x1023 (C)
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ZgïÆWÐ�ÂZ**ð{g`�Cìz{tì: .94

wZg] (B) MzZi (A)

�zâV (C) Zzg (B) (D) gzÝ (C)

Zk»Zëz�@*ìX C4H10 .95

�gC� (B) LPG (A)

Ãw� (D) ðz@ (C)

MvuäzZà�X .96

Nitrogen (B) Neon (A)

Carbon Monoxide (D) Carbondioxide (C)

ì? Acidic Oxide Zy~ÐÃy .97

CO2 (B) Na2O (A)

Al2O3 (D) MgO (C)

Zy~ÐÃy�KZ9ZyÅäÆ�ªx5+k,�Y@*ìX .98

Sodium (B) Helium (A)

Oxygen (D) Iodine (C)

Ã�*@*g]qzVÅ/�gc*Ä�äÆaZEwHY@*ì? Radio Active Isotope øDfs~Ð¾ .99

Oxygen-18 (B) Hydrogen-2 (A)

Carbon-14 (D) Nitrogen-15 (C)

)z~�@*ìX Gas Constant .100

0.56 x 104J (B) 8.31 J/Mol.k (A)

0.83 J/mol.k (D) 8.3 Cal/mol.k (C)

///
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Rough Work
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Rough Work
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